LENGTH
Read the given passage carefully and answer the following questions.

Reema wanted a long dress for her birthday. Her mother bought a red
long dress for her. The length of the dress was 1m 25 cm. When
Reema tried it, she found it to be too long. Her mother said that she
will get it altered. Next day she went to the tailoring shop which was
2 km away from their house. Reema’s mother asked the tailor to
shorten the dress by 20 em. When she was returning, halfway
through, she met her friend Meeta. Meeta was buying vegetables.
Reema’s mother invited Meeta and her daughter for Reema’s
birthday.

Choose the correct answer
Q1. What was the length of the dress?

a) 1025 cm
b) 125 cm

c¢) 1250 cm
d) 1000 cm

Q2. The tailor altered the dress. Now its length is
a) 100 cm
b) 1002 cm
c¢) 1020 cm
d) 105 cm

Q3. At what distance while returning did Reema’s mother meet
Meeta?

a) 1km

b) 2 km

c¢) 1.5 km

d) 500 m



